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MATHEMATICS

READ THESE INSTRUCTIONS CAREFULLY

1. You have been given this question booklet and a separate answer sheet. The question booklet contains 50

Time: 2 hours

questions.
2. Do any necessary rough work in this booklet.
3. When you have chosen your answer, mark it on the ANSWER SHEET, not in the question paper.
HOWTO USE THEANSWER SHEET

4; Use an ordinary pencil only.
Make sure that you have written on the answer sheet:
YOUR INDEX
YOUR NAME

NAME YO

6. By drawing a dark line inside the correct nugibered boxes m ur full Index Number (i.e. School Code
Number and the three-figure Candidate’s Numpgr) in th?d ear the top of the answer sheet.

and DO NOT FOLD IT.

10. On the answer B orrect answer by drawing a dark line inside the box in which the letter you
. have chosen'i ‘ .

Example

In the Question t:

15. Kihara shared a sum of money between his son and daughter in the ratio 5:9. If his daughter
got sh. 200 more than the son, how much did the son get? ;
A. 450
B. 500
C. 250
D. 200

The correct answer is C

On the answer sheet A

12. [A] [B] [C] D] 13.[A] [B] [C] [D] 14.{A] [B] [C] [D] 15.[A] [B] i1 D]
In the set of boxes numbered 15, the box with letter C printed in it is marked. '

11. Your dark line MUST BE within the box.
12. For each question ONLY ONE box is'to be marked in each set of four boxes.
This question paper consists of 7 printed pages
Candidates should check the question paper to ensure that all

the pages are printed as indicated and no questions are missing
= E-mail: jesmaprintingpress@gmail.com,

Second Edition © Jesma Printing Press Led. Tel: 0775242042 Nairobi : TURN OVER
'é
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3,

T

- Which one of the following is ten million,

one hundred thousand one_hundred and

LLERE AUy L siinpss ad bib avan
A. 101000101 - IR
B. 10 100 101 S
C. 1010 001 001 3 o
D. 10 010 101 P 8

Round off 43.678 to 2 decimal;plages. ~

A. 43.68 -
B. 43.70

C. 43.67

D. 43.680

What is the total vélue of
1743 l /.
Y3 o Y+1l+6
A9%] |
3
B.Y,
C: 1
D. 4 %
Find the next fraction in the pattern below.
Lf 227 &1 2
)32 73:5 o0 %,

A 4,

Find the perimeter of the figure below.

21cm

99c¢m
14lem”
. 132¢cm

. 42¢m

0w »

I

e

Cmas o e

9,

10.

What is the difference between LCM and
GCDof20and 30?7 ;- b
A.60 gt

C.50 s W
D. 10 LE

Express as fraction in its simplest form
0.008 e llge NP e, K

A %ooo \'
B. %25
c. Yo

b 8.

What is square root of 31 ;é , ?

A.l% |

B.19§

erk

D.1 %

Solve the equation
%(12»:-8)=%(1M+20)
A. 2%.

C.sl

D. 21

What is the value of

0.02x1.4x3.5
0.7x0.2

A7
B. 70
C. 0.7
D. 0.07
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11.

12.

13.

14.

15.

TOwp

A rectangular plot measures 400m in width
and 800m in length. Calculate its area in
hectares. £
A. 320000ha 5.4
B. 3.2ha Bl
C. 32ha o
D. 12000ha
3 isel ke et ninoliseti L5 227

Express 12 %% asa fraction. ¢

6
B. 25

@, %5
D. %

Kimani ran 5% times in the field drawn bel%w

What distance did he coverinkm #z= =

150m

35m

A. 410km

B. 2.255km
C. 2255km
D. 0.41km

Which is the smallest number which must
be added to 24671 to make it divisible by
11?2

2

1

5
3

Which one of the following properties is
true about a trapezium?
A. The diagonals intersect at 90°
B. Has a pair of parallel sides
C. Diagonals are equal
D. Opposite angles are equal

3

6.

e

18.

19.

- 20.

21.

A farmer packed 530 eggs in trays. If a
tray of eggs contains 30 eggs, how many
trays did he require to pack all the cggs"'
A. 17 FEO ¥ upl

B. 20 P 3. Dl

C. 16 OTOG et

D. 18 A0 g ‘

a’*+abc
2ab

‘ifa=2,b=4,c=3
A 1%

C. 6

‘Find the-value of

B.3%

D.7

What is the sum of edges and faces of an
open cuboid?

A7

B. 12

C. 17
D. 6

Express % as a decimal to one decimal
place.
A 0.8
- B. 0.90
C. 0.875
D. 0.9

Construct triangle ABC in which
AB=6cm, AC=8cm angle CAB =90°.
Find BC '

A. 12cm

B. 10cm

C. 15cm

D. 9%cm

Which of the statements below is true?

ofb

d/c

e/f
/yg
A. Anglea+c=180°
B. Angleh+a=c+f

C. Angleg+h=d+b
D. Angle h and c are alternate angles
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22,

23.

Find the area of the triangle below.

12cm

A. 156cm?
B. 78cm?
C. 30cm?
D. 25cm?

In a class % of the pupils are girls. If
there are 24 boys, how many pupils are
there in that class?

A. 60

B. 36

B

24.

Z5.

D. 27

A square plot of land has a perimeter of

13m. Calculate its area.
A. 52m?

B. 1%6 m?

C. 169 m?2

D. 10%6m2

In a book there are 185 pages, each with
256 words. How many words are in that
book to the nearebt ten thousands?

A. 47360

- B. 47000

C. 50000
D. 48000

26.

Z7,

28.

29,

Kamau ran round the figure below once.
What distance did he cover?

A. 44m
B. 88m
C. 116
D. 132m

The volume of the cuboid below is 720cm?,
what is its height?

8m

15m

A. 6cm

B. 18cm
C. 90cm
D. 120cm

A cyclist took 10 seconds to cross a 200
}r:mrgtre bridge. What was his speed in km/

A. 20km/hr
B. 72m/s
C. 72km/hr
D. 20m/s

Correct to 2 decimal places 13.69.
A. 13.69

B. 14.00
C. 13.10
D. 13.70
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30.

31,

32,

33.

34.

What is the length of the figure below?
(6x - 2)cm

(2x+2)cm

(3x + 8)cm

A. Scm
B. 23cm
C. 12cm
D. 70cm

The circumference of a circle is 88cm.
Find half its diameter.

A. l4cm

B. 28cm

C. 44cm

D. 76cm

What is the value of 5+27 to 2 decimal
places?

A. 0.18

B. 0.018

C. 0.185

D. 0.19

A shopkeeper bought 5 tonnes of sugar and
sold it in 2kg packets. How many packets
did he sell?

A. 10

B. 2500

C. 25

D. 250

Ali’s family consumes two 250ml packets
of milk everyday. How many litres did they
consume in February 2012?

A. 14.5] '

B. 1451/

C. 14500/

D. 7000/

5

35. Whatis the sum of the next two numbers in

3

3

3

3

6.

thesequence2,3,5, 7, .. &5+
A9
B. 11
C. 24
D. 15

Find the value of x in the figure below.

705
45° . X

Ts

8.

A. 70°
B. 115°
C. 2

D. 65°

A goods train left Thika at 9.30am and
arrived at Nanyuki at 1.30pm. How long
did the journey take?

A. 4hrs 10min

B. 4hrs

C. 4hrs 30min

D. 4hrs40min

How many groups of thousands are there
in the total value of digit 6 in the number .-

© 97658317

9.

Jowp

A. 60000
B. Tenthousand
C. 60
D. 6000

Simplify the inequality.
2(3x+4)>20

x>2

x>4

x<4

x<2

STD 7 SECOND EDITION 2015 MATHS
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40.

41.

42,

43.

44,

Arrange in ascending order

%, %(5,13 48, 1%2

A. % % 6. %z, 1%8

B.1Y1s, W2 Ao 24
%50 N6 Vs

D. l3'48,%6,%2,%

Which of the following number is divisible

by8and 11?
A. 18432
B. 569008

C. 13008
D. 761520

What is the value of
24+3+4x5-8+4x10+1
A. 581

B. 9

C. 131

D. 7

Peter was paid sh. 4800 by a customer after
selling an item at a profit 0f 20%. What was
the buying price?
A. Sh. 960

C. Sh. 4000

B. Sh. 3840
~D. Sh. 5700

Find the perimeter

35cm

26em

A. 142cm
B. 197cm
C. 87cm
D. 177¢cm

45. There are 900 litres of water in a tank. If

46.

47.

40% of water was used up, how much
water was left?
A. 360/

B. 720! , o5
C. 180/ i % i %
D. 540/ .

Three bells ring} at intery vals of 24mm 48min
and 1 hour. If thcy rangtogetherat 11.30am,
at what time did they ring together again?

A. 3.30am

B. 3.30pm

C. 1.30am .

D. 1.30pm

The area of a right angled triangle is 204cm?
Its height is 1 7cm. What is the measure of
half of the base length?

A. 24cm

B: l4cm

- C. 12cm

48.

D. l4cm

Find the value of angle marked w

38°
wo
A. 109° \
B. 140° .
C. 178°

D, 52°
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49. Find the sum of numbers repesented by x
sand yp

OE CauWN VS GG G o g ¢

3 W | '
L : e YR Y N
Yiig) ao e 1oL * % AN U2t TR W & .
LI3AT «
'Vb( .
. P e
B ‘?Y : . \\L.'t ) | . :\".
s g AN IR TR :

7 X L3

e | 4ob g oguasi gey

50. How many triangles are in the figure below?

cowp
AN B W
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“SMA
SECOND
EDITION

INTER-COUNTY EXAM
STANDARD SEVEN 2015

ENGLISH

SECTION A:

LANGUAGE o Time: 1 hour 40 minutes
READ THESE INSTRUCTIONS CAREF ULLY

1 You have been given this questlon booklet and a separate answer sheet. The questlon booklet contains 50
quesnons .

2.0 Da.any necessary rough work in this booklet.

: ; 3. Wiienyou have chosen your answer, mark it on the ANSWER SHEET&)

‘ HOW TO USE THE ANSWER SI-IE

4. Usc an ordinary pencil.

i Make»mre that you have written on the answer sheet: Y,

Bl YOUR INDEX NUMBER ',
YOUR NAME S
NAME OF Y% R SCHOOL,,

6. By drawmg a dark line inside the correct numbered boxes mark your fuﬂ?‘index Number (i.e: School Code
Number and the three-fi igure Candidate’s Number) in the grid near the tob ©of the answer sheet. ~

7. Do not make any marks outside the boxes. ‘ﬁ? , ‘m..-f
8. Keep your answer sheet as clean as pos51ble,and do noeé‘old it.
S
9. For each of the questions 1 - 50, four answers are grv’én The answers are lettered A, B, Cand D. In each

case only ONE of the four answers is com:ct,w*Choose the correct answer.

10. On the answer sheet the correct ans
letter you have chosen is written,

i to be’ sho n by drang a dark line inside the box in which the

Example

In the question booklet:
In question 14, choose lhe altematzveA hiat best completes the sentence.

14. She passed her exams very well,,, 7
A. i d
B.
C. dldntshe»
D. isn’tit.

The correct answer is/(C)"
On the answer sheet:

rAnBuCnDr m:,l\anOuD) mlAHBIICIIDI AIIBIICIIDI‘ ,\m.-'A“‘B"C”D‘

In the set of boxes numbered 14, the box with the letter C printed in it is marked.

1. Your dark line MUST be within the box.
12. For each question, ONLY ONE box is to be marked in each set of four boxes.

This question paper consists of 7 printed pages,
E-mail: Jesmaprmtmgpress@gmm!.com '
Second Edition © Jesma Printingpress Ltd, Tel: 0775242042 Nairobi %URN OVER
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. Read the passage below. It cagtag 1k .spaces numbered 1 — 15. For each Ha;k mchoose
" {ii Best alternative from ihe choices , ven. i

SR R RO

When YOu 1 i }'Our mouthif'ofa'long time, it smells gliids 'YO.i.iopen

it, The bad smell 3 " not come form the mouth as many people )4' ' but
from the tiny 5 o o£ food 6 between the teeth‘ When the mouth

is clossed, the warmthand ____ o 7 ' in the mouth help the bacteria to break the food faster
thus, 8 the offcnsxve smell. It looks good. 9 .- ’wé él@se ,Emr mouths |
but then it 10 . affects the smell that : _ll ____come out of it while open.

We should brush our teeth at 12 twice a day In specific, it is
13 ~ after supper and after breakfast. 14 ehsures that the fobd

mrudes between the teeth are rcmoved _ J§ » bactena cannot find what to fecd on. it
1. 'A. block | B. fix C bang D élose: :

2. A once B. one’s : C}}.;'.qne‘_s | D. for
‘3.l A, can B. does C. will - D.did

4. A think B. know C believe ) D..uhear‘ i,
5. Al bits B. parts C. types D.'groups i W

6 A. put B. stuck - C. stored D kept %

T A.A‘moisture B. darkness C. ;avatcr ‘D.‘ spaces

8.  A. bringing | B.'taking( C. making D. causmg i

. A as B. because % whenv D. after

10. A. also B. even C.so P D. .

11. A may B. wil C. could D. should

12. A list B. last C. most D Jeast

(3. A tried B. done C. finished D. cleared

14. A. This B. That C. The | D. These

5 B C 0.

15. A.however . but . . therefore or
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In each of the questions 16 and 17 choose

the word which LEAST fits in the group.

16. A Kid. -

' “B. Kitten-
- C. Cdlf
'D. Rat

17. A. Mangoes
B. Vegetables... ..z i g xis
C.Fruits . . . _
D. Trégg ' == i e e,

Read ihe'informdfibn below and then answer

- questions 18-20, =

Five children: Kanini, Maina, Achola, Edwin and
Bura went to a hotel for lunch. Kanini ate rice,

chicken and took a bottle of soda while Edwis -
and Maina ate chapati and beef, Achola ate fried
~ fish and ugali, just as Bura and drank a glass of
milk. All the children ate-passion fruit except Bura
who chose oranges. Only Edwin ate watermelons.

18. Who amongthe children did NOT takea
liquid?
A. Bura
-B. Kanini
C. Maina
D. Achola -

19. The food item that was chosen by the

LEAST number of childrenis
A. beef

B. watermelon ‘ -
C. passion fruit -

D. rice 7

20. Which of the pair of children took exactly
the same type of food? -
A. Edwin and Bura
B. Maina and Edwin
C. Achola and Kaninj
D. Acholaand Bura

“In 21 and 22, choose the BEST alternative

fo fill the blank space.

21, The villagers managed to put __the

fireatlast. - :
A off "o
- B. out
C. down.
D. away

1 22. You can come to school if you want but

you. . ..
A. don’t have to

B. mustdoso
C. maydecide to
D. willhaveto - -

In questions 23 -25 choose the alternative

that means the SAME as the underlined
sentence. - ‘

23. The grandfather told Samuel, “Please shut

A. Grandfather ordered Samuel to shut

. thedaor. - .. .. o

B." Grandfather forced Samuel to shut

6] ndfather requested Samuel to shut
the door.. ' i s ¢

D. Grandfather wondered whether

Samuel could shut the door.

24, Notall 0 come to visit us are

ourglgg\rfg, G s

A. Ourrelatives do not like coming to visit
us. .

B. All visitors who came to visit us were
not our relatives.

C. Allthe people who do not corne to visit
us are our relatives. _

D. Some of the people who visit us are
ourrelatives,

25. Comin of the house, I saw er.

A. My brother was coming out of the
house whenIsawhim, . ..
B. Iwas coming out of the house when |
saw my brother. - i,
C. My brother was out of the house when
. Isaw him. ‘s .
D. I'was outside the house when my
brother saw me.

" STD 7 Second Edition English 2015

~
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There once hved three brothers Upon therr father’s death, they decided to go and 1ool< for where
the late father had buried some of his treasures. It was very far and they needed a number of days and
each carried his own food. Their; mother had packed enough food for each child but it vaned according
to age w1th the eldest being gwen the largest share They walked during the night and slept during the
day. Wﬂd ammals attacked anybody they found sleeping on the ground at night. | ‘

They were left with Just a day t6 reach the big trec they were headed for Their food was running .'
lowand if they did not tlnnkWeH, theywould soon be dead in the Jungle The eldest son had the least
food left and the youngest hed,eqtep the least. By the time they reached the tree, the eldest had cleared

everything but the others; still had.sqme. food left. They were so tired that they slept without eatmg .

The following morning, they dec1ded to get the easiest way outof the problem. The food left was

hardly enough for two of them So, as hungry as they were, they reahsed none of them could dlg the

spot where the treasure lay So, 'eldest suggested he be allowed to eat all the remaining food butmhe

- others Obj ected Each wanted the food for themselves mdrvrdually S0 they agreed to sleep and when -

they woke up, the person wi‘th thc most interesting dream wolild be the one to eat the food and dig out
| the treasure. '

The eldest one was too hungry to sleep. As his younger siblings snored, he woke up, went where
| ’they had kept the food and ate,it upv - everythmgl Then he went to sleep like the others. When the three
woke up, it was the youngest ene who started to tell about his dream. |

He narrated how he | had dred in the dream and straight away wentto heaven wherehewas received
by ahost of angels. He was also given a lot of good food and drinks. The second-born then said that
he too had died but was. taken to hell where he found nothing edible. Everybody there was hungry and
sad as they waited for fire to be lit. When it was the eldest one’s turn to speak, he said he too d1ed and
‘saw his youngest brother i in hea.ven and the following one in hell. Realising that he had remamed alone, |
he retumed on earth and ate the little food He then slept and had woken up strong enough to dig the
treasure . B

lmmedlately, he embarked on the dlgging and soon, they had the treasure, bought more food and

embarked on their return Journey.
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26.

-

27.

Why do you think did the three brothers wait
to start the journey after their father’s death?
A. They never wanted him to know about

it.

B. They started lacking basic needs upon
hisdeath. - S fn

C. Each of them wanted it alone.

D. Their custom did not allow them.

The MAIN reason why each child
carried his own food is

" A. sothateach could eat without

bothering the others.

* B.. there was lack of trust among them. .
C. the children never ate together even at

' D. fo ensure the weight was left for one

.28

29.

30.

31.

person.

The food given to the children was not

A. the youngest one could not carry as
- .phuchas theothers. .+ »
B. the mother did not seem to like th
children equally. .
C. the mother considered each child’s
need individually. . ‘

D. their father had instructed it so before-
he died: ’ '

What do you think made the journey taki

a longer time than necessary”? v
A. They travelled at night and slept during
the day. %
B. The disagreement between the three
- brothers. ST :
C. The quantity of food each of them
was given. S
D. Each of them was tired and hungry all
~ thetime. oy e

If the children had not got what to eat
they would have diedof

A. stress
C. thirst

B. starvation
D. drought

When the three brothers decided to use a
dream to find who would eat the
remaining food, it was because each
wantedtobe :

A. chosen to eat the food.

B. the one to dream most.

C. to show how clever they were.

D. fair to the others.

5y

The oldest son can bc"‘désvcribe'd as
A. genuineand thoughtful.
B. beingabully and unfair.

" C. confused and greedy.

33.

34.

B.
0,
D.

D. weak.and undecided.

As the eldest son ate the remaining food, "
A. he had prepared the lie to tell about
the dream.

he was ready to fight the others if they
asked for the food.

he was prepared to dig out the
treasure later on. ;

he also' decided not to share the
treasure.

What can ybu describe the relationship
between the three brothers to be? '
A. Suspicious

“B. Cordial

i 38

C. Hatred
D. Funny

The eldest son spoke last because
A. he was too satisfied to be the first.

. B. hewasstill feeling sleepy. - °

36.

C. he was afraid the truth could be

revealed. £
D. he wanted to find the best lie to tell.

Why do you think did each of the

 childrentalk of having died in their
“dreams? .
_ A.They believed dying is good.

37.

38.

'B. They wanted to scare one another.

C. They probably were seeking

sympathy. .
D. They had reached where to die.

It was good of the eldest boy to eat the

" food because

A. he used it well.

B. it could not be enough for all of them.
C. he had been allowed by his brothers.
D. neither of the others could beat him.

In the end, we learnthat
A. the boys never returned home.

* B. the treasure was finally found.

Powered By: www.eeducationgroup.com

C. none of the boys dug out the treasure.
D. the boys became very hungry. Z
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Read the follawing posiaxe and oncwer puastions 39.=50. ...,

~ There are many dlflbrem s1zes of splders Some are small whlle others are big. 'Ihose with hairy
legs and those with thm hmrfm legs They all belong to the amchmd farmly, whichalso 1m,ludes sooxplons
mites and thkS They have etght legs unl1ke insects that have s;x ]‘he o@xd}fference between them
and insects is that splders do not have antennas;

Splders are found in every contment except Antarctica which is the coldest contment inthe world
Most spnders make theu own srlk which they use to create webs Splders spin thelr webs to trap
insects, which they feed on.. By character the spxder is very. patxent and will waxt for the msect to trap
itselfin the stxckymesbm*uwb | |

There are also dlﬁ'erentm of spider webs. These are: orbs funnels and sheets. Splders usually»
bunld anew web every day, and st takes them about an hour to complete m.akmg one What we refer to
as cobwebs are actualiy abandoned sp1 ider webs

However, not all prders cateh thelr prey in webs Others lie in wait for insects. Por mstance, the. '
wolf splder makes a hole in the ground and waits inside for prey to pass nearby before pouncing. There
are 40 000 specxes of splders most of which are harmless Only afew spec1es, llke the mfamous black
widow spider, can bxte human bemgs and inject venom. |

:It is unusual to hear ofa human being who have died of spider bite | Some people have an unfounde.dv
fear of spiders, called aracimophobxa Tarantulas, whlch are large w1th halry legs, are the blggest specxes
of spiders and are known to kill mice, lizards and even birds. In fact the largest spider gpecies is called
Goliath bird eater. There is a_lso the giant huntsman spider, which has a leg-span'of around 30-centimetres.

Spiders lay eggs and store them m an egg sac to keep them safe.
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39. According to the passage, the size of spiders

~A. vary

~ B. increase

C. decrease

. D. isthe same

40_ What are the arachnids?

A. They are insects that ook like
scorpions, mites and ticks.

B. They have eight legs and have no
antennas. R

C. Insects that have nelthcr hairy legs nor
antennas, -

D. Are insects that live in large famlhes.

41. Spiders'éxe not easily found in the

Antarctica because ;
- A. itistoo far away from other
- continents. '
B. the arachnids do not prefer living
g i
C. only insects can survive there.
D. thé temperatures are unfavourable.

42. The fact that spiders are found in almost

all continents'make them
A.rare -

B. common

C. strange

D. hostile

43. The MAIN reason why spldcrs make

_ their own web is to

A. make the net-like material.

B. to compete against one another.
'C. enable them catch prey. :

D. to ensure they get a home. -

. 44, When aspider wants to catch its prey, it

is likely to

A. take its time waiting for it.

B. pushits web to trap it.

C. continue spinning the web to be
bigger.

D. fly and hunt for it.
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45.

46.

47.

48.

49,

50.

[f you come across a place with many *
cobwebs, it means
A. the spiders have moved elsewhere.

'B. there are very many insects to be

- trapped at ago.
C. there are more arachnids. there than
~ insects.
D. many spiders keep spinning new
webs.

Spiders which can inject venom into

human beings

A. are found commonly in almost all
continents.

B. are very dangerous to man.

C. have hair on their legs.

D. lie in wait for their prey.

Why is it unusual to hear of a human
being who has died of spider bite?

~ A. Spiders actually do not bite human

beings.

B. People do not like hearing such

~ incidents.

C. Very few spiders inject venom that
can kill people.

D. Human beings die more of snake bit
than spider bites. '

People who suffer from fear of spiders
A. have some spiders biting people.

‘B. live in areas where there are many

spiders. _
C. end up being bitten by the spiders.
D. do not really need to fear them.

The Goliath bird eater is

A. the largest spider in size.

B. the one all people are afraid of.
C. only eats birds and not insects.

D. the only spider that can bite to kill.

One common characteristics between
birds and spiders is that

_ A. they can be very dangei'ous

B. both lay eggs.
C. not all of them have hairy legs. ¥
D. they kill their prey in the same way.
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g *P“ART II: RELIGIQUS EDUCATION

SECTION A.
CHRISTIAN RELIGIOUS EDUCATION

6 1 . Accordmg to Blble creatlon stones in

Genesis, ﬂaefoﬂamngmmw
EXCEPT?. + -

A.’ Humanbemgswemgrvenequal status

with God
‘B.  God was satisfied with what He had
. created.
C.  Human beings were created in the form
¥ "dleyanaft y.
D, God intended human bemgs tolive in
~ total happmess %

62.“From now you will crawl on your belly, you

will eat dust as long as you live” Gen 3:14.

Who was given this punishment?
A. Serpent B. Adam
C.. Eve ' "D. - God

63. “Your name mllnolongbelpcob Genesis

32:28. The name Israelmeans . acgording -

ta the above verse.

A. God of Israel

B. God withus

C. the promised land
D stmggle with God

64. Moses at last agreed to go and lead the

Israclites out of Egypt because

A. Aaron to speak for him

B. God promised to be with him

C.  He was given power to perform miracles
D. Heknew how to handle the Pharaoh

65. During the feast of the Passover the Israclites
did all the following EXCEPT?
A. Eatunleavened bread
B. Eatbitter herbs
C. Slaughter lambs

D. Drink wine :
- 66. Who among the followmg prophets foretold
the birth place of the Messiah? '
A. Isaiah B. Micah
C. Ezekiel D. Jercmlah
67.God punishment to Ahab and his household
teaches Christians not to '
A. covet B. kill
C. hate others D. be selfish

68. The writers of the Bible were
A. apostles of Jesus
B. God and human beings
C. Holy Spiritand disciples
D. ' human beings :

69. Solomon sinned as King of Israel by
A. judging wisely the case of the two
’ women
B. allowmg worship of forelgn Gods
C. marrying 700 wives and 300 concubines
D. allowmg enemies to settle in Ismel

70 For 14 years Jacob worked for Laban in

“order to marry
A. Miriam - B. Leah
C. Rebecca D. Rachel

71.1doubted the angel when he told me that my
wife would have a child for she was very old.
Who am I?
A. Zacchaeus
C. Zachariah

72. According to Matt 2:13, the angel of the Lord
appeared to Joseph in a dream and ordered
him to get up, take the child and his mother
and escape to Egypt. This was because
A. there was a great faminc in his land,

Israel.
B.  King Herod was after the life of the child.
C. devil wanted to tempt the baby Jesus.
D. he had to perform a ritual inEgypt

B. Abraham
D. Joseph

73, Where did Jesus go to live with his disciples

when he left Nazareth?

A. Capernaum

B. Jericho

C. Bethlehem

D. Jerusalem -
74. Atrue follower of Jesus is the one who
goes to church daily
ready to suffer for his country
does the will of God
read the Bible always

DOW> 2
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- 75. Which one of the following parablesof Jesus

teaches about prayer?
A. Good Samaritan
‘B. Widowandjudge - .~
C. , Lostsheep - ... s euiiey,
D. Tenlepel's SR DR
..:” 5 ‘ 215
76. Who among ‘the follow;qg wthe greatest in
Jesus ministry?

A.’- Onewho sitstobeserved 3
B:* One who has a-lotof lmowledge

C. the one who s like the: youngest

D.-.! Withrthe mastfaith. oiv00

77 Cbnstlans gxeatesthopeonsuﬁi%rlngis found -
onthe followmg

AL

"B

C.

D.

Jesus teachmg in parables -
" Jesusrising fromthedeéad = -
[saiah’s prophesy on Jesus’ suffenng
Jesus érymg on the cross

78. One of the followmg apostles of Jesus was -
- -not present during the ascension of .Iesus

Who washe? §.0
‘A. Peter B.' '_J,o_hn .
C. Andrew D, Judas Iscariot

79. Why did Simon Peter deny Jeshis before the
cock crowed? SE
A Those asking him were strangers
B. Feared for his life ‘
C. Thought Jesus would be released soon
D. Otherdisciples had run away

80. “Happy are those who work for peace”

j83.0ne of the folowing practice is comg

s

in traditional community and the descend!:
of Abraham? .
A. Circumdisionof girls

- B: : Eatipgofacommonmeal . rz1s

C. Circumcision of boys
D, -Celebrating the Eucharist - -,z

84. imradltxonalAfncancommunmg;% -:

. presence of. God is best shown by

A initiation of the youth fitto adulthtod
B., offermg sacrifices ‘- .

L+ C.+! performing songs and dances b

,: D:. . consylting rehgxoussppcxahsts R

85,.A11 the following were pxactlsed in Kenya

before the coming ofM;sswnanes EXCEPT
one Whichone?
, B. Non—formal edt:caneq A

D Fm‘mal educatxon

: 86.Afncan rehglous heritage behevethat(}od is

. all powerful, Which one of the following

.. termsmeanall powerful," -
*" A. Omniscent ., B Ommpmsent
C. Omnipotent - ' D. Omnigod
87.0neof the followmg isa needy person. Who
isit? -
A. Ataxidriver “B. A pastor
C. Ateacher D. A street urchin

88. Your friend has formed a habit of lying.
Which advice would you give him/her to stop
the habit?

A. Infront of othel.stell him/her to stop lying
A.  God will satisfy them fully - B. Advise him/herto beattending church
B. God will call them His children services.
C. Kingdom of heaven belongs to them C. Establish why he/she likes telling lies.
D. they will see God | _ D. Educate him/her on the virtues of being
8 1. 1n the early Church, Nicholaus was assigned truthful.
w o 89. A Christian in a problem should do the
A. help widows following.
B. Gentiles 2 A. Keep quiet
C. build the church Gt S B. Pray to God and seek His help
D. translatetheBible = .. . C. Commit suicide
D. Forgetev to forget th bl
82. Which oneof the followmg isa frult of the Qe eYsey g rge R
EOIYFSP:;;“? ok 'thfuln | 90. Charismatic’ means
- s .-Fai ess
& e A loveof God B. grace of God
C. Prophecy. D. CO"‘“M C. powerof God D. work of God
sl
i o N e ——

Powered By: www.eeducationgroup.com




o SECTION B:
“lS‘LAMiC 'RELIGIO’US cEDUCATION

62. The following pupils Mre aéked by thelr

LR.E teacher to state the mbaihg of Al-Qadr

Who gave the CORKEC’P a’ﬁswer"
A. Aisha - Allah’s powef '

B. Hussein - Clot of blopd .
C. Abdi - The nightof blessmgsh. A
D. Omar - Holy month of Ramadhq:?

£

62. Who among the following is rcffered to as :

Ruh in Surah Al-Qadr?
o B Jlbrll(a s) ,
L z"'B Muhamma (s.a. w)
C. Israfil” k.
D. All angels AR

63. Which one of the fo!lowmg Surahs ta]ks about

the importance of knowledge?

A. Qadr B. Asr
“"iC. Takaathur* .~ 'D.Alaq
64. Makkah is réffered to as the city of security
in Surah T e :
A. Quraysh B.Tiin
C. Dhuha S Fmih‘a
65, . Accordingto Surah, AI»Qadr the holy Quran
G o ‘was revealed in the. month of
" A.Shawwal -
B. Rajab
C. Muharram
D. Ramadhan
66. Lailatul Qadr is better than
A. 1000 months
B. 1000 years
C. 1000 nights
D. 1000 days
67. The holy Quran was revealed to Prophet
Muhammed (s.aw) for a period of ____ years
A.23 B. 25
C. 114 D. 30
68. Which among the following is the last book
of Allah (s.w) revealed to mankind?
A. Taurat B. Zabur
C. Quran D. Suhuf

11

69.

70.

| 71.

1 72,

13.

74.

5.

D. Humazah

Which one of the following Surahs mention

places of revelation?
A. Al-Qadar
B. A-Tiin o i
C. Al-Alag f it - b
D. Al-Bayyinah ' '~ o

The folldwing are statements about Surah_
Qadr. - Which among them is NOT :

. CORRECT® -+t huiv s

A. There is peace in the: mght of power

B. The Quran was revealed. '~

C. Ruh and other angels dcsce’rid from
heaven.

D. Lailatul Qadr is better than: WOO mghts

iy

AR

Surely we have created ‘man’in: the best_ ’

mould. this ayat is found in Surah
A. Qadar B RN
B. Asr

C. Tiyn )

Vi . ef oot

Who amongst the follong was a Chlld of

Adam (a.s)?

A. Canaan )

B. Qabeel . ‘A,'
C. Ismail e

D. Ishaq

Sudais, who is the Imam of a Masjid was

heard reciting the following verse “In-naa
anzalnaahu Fu lailaril Qadr” The Surah

was likely to have ___ ayats.
A.5 B.6
c.n

.9

Four pupils were asked to state the Surah
that talk about the night of peace and security.
Who gave the CORRECT answer?

A. Yusuf - Takaathur

B. Aisha - Al-Qaariya

C. Omar - Qadr

D. Hassan - At-tiin

Lailatul Qadr is expected to fall in the
following dates EXCEPT?

A1

B. 24t

C. 239

D.25%
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76.

i A

78.

79.

80.

81.

Which one of the f‘ollowmg is an important
event during Lailatul Mubarakah? ’
A. Isra wal miraj

B. Birth of Muhammad (s.a. w)

C. Revelation of Qurdn

D. Death of prophet (s.a. w)

Who among the followmganxels
accompanied the prophet (s,a w) durmg
Isra wal miraj?

A. Mikail

B. Jibril

C. Israfil

D. Izrail

The act of puttmg somethmg sweet in, the

mouth of a’ newiy born baby is known as
A. Aqtqah

B. Circumeision

C. Adhan

D. Tahneeq

Which one of the followmg is NO'I‘ an.
Islamic name? " '

A.Umar -

B. Eddy

C. Abdirizak

D. Abdulrahman

The following are items liable for Zakat
EXCEPT?:

A.Agricuitural produce

B. Household items -

C. Minerals

D. Money

Who among the following prophets took part
in the construction of Baityl Maqdis?

- . A.Musa

82.

83.

B. Sulayman
C. Muhammad
D. Issa

‘Al- hamdulilah ladhi, ibtalahu wa aafani’
The dua above is specifically for the

A. Poor B. Disabled

C. Orphans D.Dead

Bait-al-Attiq is another name for
A. the prophets mosque

B. Baitul Maqdis

C. The holy kaaba

D. Jamia mosque

12

84.

85.

The _lelowi?g persony

‘Islam is bullt on

ities took care of the
prophet (s:a:w) when Rty ypung
EXCEPT? '

A. Abdul Mutwahb

‘B Pwnza

s Hﬂlmamiaadlyah
D. Abltwaﬁb

____pillars of iman.

AS A ; « &

86

B. 25

.C.114

D.6

. Which of the following months do muslims
.celebrate. after thirty days of fastmg?

Al Ramadhan
B. Muharam

-~ C. Shawwal

87.

88.

89.

90.

D. Dhuttijja.

Prophet Muhammad (s. aw) name is
mentioned. in three of the following areas

- EXCEPT?
"A. Adhan

B. Iqaamah
C. Tashahud
D. Nikaah ceremony

The age difference between Muhammad
(s.a.w) and lady Khadijah when they married
each other was e o
A. 25 years

B. 40 years

C. 63 years

D. 15 years |

Which holy book was given to prophet Daud_

(a.s)

A Taurat
B. Zabur
C. Injil

D. Suhuf

Muslims are supposed to say ___ before
they start doing any halal activity..

A. Maashallah

B. Bismillah

C. Al-hamdullillah

D. Insha-allah
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MTIHANI WA KUTATHMINI KAUNTI
DARASA LA SABA 2015

KISWAHILI

SEHEMU YA

KWANZA:

LUGHA Muda: Saa 1 dakika 40

SOMA KWA MAKINI MAAGIZO YAFUATAYO
Umepewa kijitabu hiki cha maswali na karatasi ya kujibu. Kijitabu hiki kina maswali 50.
- Ikiwa utataka kuandika chochote ambacho si jibu andika katika kijitabu hiki.
3. Ukisha chagua jibu lako lionyeshe katika KARATASI YA MAJIBU na wala sio katika kijitabu hiki cha
maswali. ‘ ; i
JINSI YA KUTUMIA KARATASI YA MAJIBU
4. Tumia penseli ya kawaida. '
5. Hakikisha ya kwamba yafuatayo yameandikwa katika karatasi ya majibu:
NAMBA YAKO YA MTIHANI
JINA LAKO
JINA LA SHULE YAKO
6. Kwa kuchora kistari katika visanduku vyenye namba zinazokuhusu, onyesha namba yako kamili ya mtihani
(yaani namba ya shule na zile namba tatu za mtahiniwa) katika sehemu iliyotengwa mwanzo wa karatasi ya
majibu. ;
7. Usitie alama zozote nje ya visanduku,
8. Iweke safi karatasi yako ya majibu.

A
9. Kwa kila swali 1 - 50, umepewa majibu manne. Majibu hayo yameonyeshwa kwa herufi A, B, C na D. Ni
jibu MOJA tu kati ya hayo manne ambayo ni sahihi. Chagua jibu hilo.

- 10. Kwenye karatasi ya majibu, jibu sahihi lioﬁ}g_s_l;we kwa kuchora kistari katika kisanduku chenye herufi

uliyochagua kuwa ndilo jibu. i,
Mfano ‘r& &
Katika kijitabu cha maswali:’

g R PAT T 'ﬁﬁ;’
11. Jinakiwavi liko katika n‘gé!i_?'

A. [-Zi
B. A-Wa
C. Ki-Vi
D. U-Ya
Jibu sahihini C AN
|A||’ ! égn; :;:EcgllBH'e‘lDl m tAnBiCi1iD IAHBIICIIDI AuBiiCriDy

Katika visandukujgy'g;vyo yniyesha majibu ya swali namba 11, kisanduku chenye herufi C ndicho

kilighochonyaikistari’
11. Chord klsta'rl*éb ) vizuri,ﬁkistari chako kiwe cheusi na kisijitokeze nje ya kisanduku.
12. Kwa kila swali, chora kls’tﬁﬁ katika kisanduku kimoja tu kati ya visanduku vinne ulivyopewa.

Yy
B

“&r‘kk'lﬁbu hiki cha maswali kina kurasa 8 zilizopigwa chapa
Watahiniwa ni lazima wahakikishe kuwa kurasa zote za karatasi ya
mtiliaki Zimepigwa chapa sawasawa na kuwa maswali yote yamo.

Barua pepe: jes_maprintingpress@gmail:cam
Toleo la Pili © Jotma Printingpress Ltd. Tel: 0775242042 Nairobi FUNGUA UK URASA
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Soma vifungu vlfuatavyo V‘na naquz 1 - 15, Chagua jlbll ltfaalo zaidi kati ya ,gale magpe
uliyopewa. : . ek

Mwanamkeiﬁ’rﬁqu"". C '.l ‘ umri‘w‘a ’ 2 & ‘alipaﬁkéha‘iﬁhﬁkémﬁé
3 - mjini Nairobuii, e 4 kumtupa 5 katika - 6
la takatéka. vllisemekéx’ia"kuWa,aiikuwa | 7 mimba kabla ya aifajiri. “Waliomuena
akijaribu kutupa waliéikikg 8 kuwa hayo kwake hayakuwa 9 Alfkuwa
amejenga mazoea ya tabia hiyo chwara. St ‘
1. 'A. mwenyewe ~ B.ya C rhweﬁye Pt D,.penye v.
2. A. makamo | B. mizamo ~ C. miongo ‘ Dm!zam :
3. A. moja ' | ~B.mr.n0ja : memgme w Dumo_la ‘
4. A. akiomba B. akikabiliwa . C. akidhamiria | D.akitabuliva
5. A. mtoto B. kifusi © C. nji D. kingo
6. A. jaala - B. jaa | C. bithi | D.pango
7. A. ameafya B. ameavya C.amewavia - D, ameawyaa
8. A. wakiongea B.‘Wakinog‘onezarﬂfa 2 walunongonezana D wakmongm{mna _
9. A mwiko | B. mtindo C. mazoea R b fiD.mambo ' e
Dunia ni rangi 10 As:yegua amuuhze Jokak:mba Yeye alikuwa
11  yawahengakuwa ____ 12 . Rafiki yake wa dhati ahkuwa amckula'

13 ‘kutomsaidia katika uchaguzl wa chifu katika kata yao. Alipogundua hayo:.

14 urafiki 15 na akajiendea hamsxm zake Gl

10. A. yasamawati B. mbaya C. rangile ' D yakahawxa
11. A. ameshuhudia ~  B. amchudhuria C. ameonewa D. amekubaliwa
12. A. kikulacho ki nguoni mwako B. kisebusebu ki joyo papo

C. hishima si utumwa D. rafiki'ya.kpkingﬁoni mwékp
13. A. mnututu . ! B. njama C. mumbi Dmdhm
14. A. alianzisha " B.aliitisha © C.alissha . D.alibua
15. A. hiche = B.huyo - C. hiyo -+ D.huo

5
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Kutoka swali la 16 - 30, chagua jibu
kulingana na maagizo.

16. Ni neno lipi ni sifa kutokana na kitenzi
jenga? '
A. jengo
B. mjenzi
C. ujenz
D. ujengaji

17. Kanusha
Angeenda nyumbani angempata.
A. Hangeenda nyumbani hangempata
B. Hangalienda nyumbani angempata
C. Asingelienda nyumbani asingelimpata
D. Asingeenda nyumbani asingempata

18. Kulayaminini nahau. Je, maana yake ni
A. mkono wa kulia
B. kuapa
C. kula lawalawa
D. kulamwata

19. Andika kwa wingi:
Shule yangu hufanya vyema katika mtihani
wa kitaifa
A. Shule zangu hufanya vyema katika
mitihani ya vitaifa.

B. Shule zetu hufanya vyema katika mtihani

wa kitaifa.
C. Mashule zao hufanya vyema katika
mitihani ya kitaifa.

D. Shule zetu hufanya vyema katika mitihani

ya kitaifa.

20.

Umbo hili ni lipi?
A. Kipenyo

B. Nusu kipenyo
C. Mchinjokati.
D. Mstari sulubu

21.

22,

23.

Ni sentensi ipi iliyoturnia kivumishi kisisitizi?

A. Chura yuyo huyo ni mgonjwa.

B. Gari hilo hilo ni jipya

C. Kuku huyo alijichinjwa chwa! na
mchinjaji

D. Alitembea polepole hadi dukani

Kitendawili: Nishike mkono nikuonyeshe

ngoma. ’ '

A. kikombe

B. mwiko

C. usukani
D.kitabu

Kamilisha methali: Asiyekujua |
A. hakudhamini T

- B. hakupendi

24.

23.

26.

27,

C. hakuthamini
D. hakujui

Mitoto aliyezaliwa na wazazi wenye rangi
tofauti huitwa?

A. Mjoli

B. Mtwana

C. Mkimbizi

D. Chotara -

Neno bui lina maana zifuatazo isipokuwa
A. mdudu mwenye miguu minane

B. mchezo wa watoto

C. mwandani

D. vazi lamwanamke aghalabu wa Kiislamu

Tunasematitalakuni __ chamatunda.
A. kipeto

B. kitita

C. kichala

D. kicha

Ni sentensi ipi iko katika kauli ya

kutendeana? :

A. Wameibana vitabu vyote

B. Vijana hao waliandikiana barua
mapenzi. :

C. Si sawa kugombeza mtu mzima.

D. Shule yetu ilinunua basi jipya.
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28. Andikakinyume:
Banati huyo amevaanguo nzuri.
A. Banati huyo amevua nguo mbaya
B. Ghulamu huyo amevua nguo mbaya
C. Banati huyo hajavaa nguo nzuri
D. Mvulana huyo hajavaa nguo mbaya

29. Kamilisha tanakali hii:
Cheka
A. kwikwi kwi
B. kwe kwe kwe

C. kwakwakwa
D. hihihi -

30. Nilipi lisilofaa miongoni mwa mengine?
A. Mbayuwayu
B. kitwitwi
C. kulungu
D. kipanga
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Soma kifungu kifuatacho kisha ujibu maswali 31 - 40

Bila kubananga hata sekundu, nilitoma hamamuni ili kuwm kuushtaki uchafu #mbao ulikuwa
umeniganda kama ukoko katika sufuria iliyopikiwa ugali. Baadaye, nilivaa lebasi zangu na kuelekea
mekoni kumjulia mama hali. Harufu ya vyakula ilikuwa yakuridhisha mno. Vyakula vilikuwa vingi,
Vilionekana vitamu mithili ya halua. Sikuwana budiila tu kuvxmezea mate kwam lisilo na budi hub1d1

- Muda si muda, marafiki zake baba pamoja na ndugu zake wallanza kuwasili shereheni. Wote
walivalia kisua. Walikuwa safi shabiku umande wa asubuhi. Nyuso zilinyeka. Nazo zilionekana zenye!
furaha isiyomithilishwa na chochote. Nina naye alikuwa ameanza kuchoka kumsubiri abu. Hata hivyo,
waliwasiliana naye kwani tulimsubiri kwa hamu na humuma ili dhifa ianze. ’

Naam, muda ulisonga na saa za jua ut081 zikafika. Taarifa ya habari kutoka chombo cha haban #

ilianza. Niliketi katika kochi na kutazama rumnga. Yale niliyoyaona yalikuwa mengi. Tuhtazama na
kuelezwa jinsi mafuriko yalivyoathiri sehemu mbalimbali za taifa. Barabara zilikuwa zimefurika funfun
na maji kutokana na mvua nyingi 1llyokuwa ikinyesha kutwa kuchwa.

Mafuriko hayo yalionekana kuathiri zaraa kwani mashamba yalikuwa yamefurika kupmdukla

- Maji yalikuwa yaklsomba mimea mingi pamola na udongo ambao ulikuwa wenye rotuba. Ukulima '

ulikuwa umehujumiwa. Vile vile maporomoko ya ardhi yalikuwa mengi zaidi.

Maisha ya wengi yalikuwa yameathirika pakubwa kwani watu walipoteza mastakimu zao. Udongo
ule ulipoporomoka majumba ya kifahari pamoja na yakina yahe yalijipata pabaya. Pia insi walipoteza _

kile kilichowafanya binadamu - uhai. Nilihuzunishwa na kisa cha watoto wawili, mmoja wa miaka mitatu
na mwingine wa miezi minne kupoteza maisha yao kaﬁka ajali hiyo ya maporomoko.

Katika mkasa wa pili, kulikuwa kumetokea ajali kati ya gari dogo na lori katika barabara ya
kutoka Nairobi kuelekea Nakuru. Tulitazama na kuelezwa kwamba ilitokea wakati ambao gari lile
dogo lilijaribu kwa kasi kupita gari jingine lililokuwa mbele yake na kugongana na lori hhlokuwa likielekea
mjini Nairobi.

Wahusika wote katika ajali hiyo walisaliti ulimwengu kwa kidole na jiwe kutokana na majeraha
mengi waliyo yapata. La kustaajabisha ni kwamba gari lile dogo lilionekana kuwa laabu yangu. Mama
alipojaribu kumpigia abu simu, mawasiliano yalionekana kukatlzwa. ' '

Ni baada ya kwenda katika ufuo wa hospltall kuu ya Kenyatta tulipouona mwili wa abu huku‘
umejawa na damu na majeraha mengi. Jambo hili lilionekana jinamizi lakini haya yote yahkuwa yakweli.
Nilitamani kulia nikacheka, nikatamani kucheka nikalia. Baba alikywa katuachm

5 DRS LA 7 KISW TOLEOD LA PiLi 2018

Powered By: www.eeducationgroup.com




-31.

32,

33,

34.

35.

© 36.

37,

Msimulizi alianza kwa jambo lipi kulingana _

na aya ya kwanza?

A. Kuvaamavazi yake mazuri
B. Kuelekea mekoni

C. Kuoga

D. Kumjuliamama hali

Methali ‘lisilona budi hubidi” ina faana gani?
A. Msimulizi alilazimika kula chaknla

B. Msimulizi alilazimika kutamani chakula

hicho.
C. Msimulizi hakukunezeachakldamate
D. Msimulizi ilimbidi amjulic mamahali

Neno shabiku limepigiwa mstari. Ni neno
lipi lenye maana sawa?

A. Iwapo

B. Kama

C. Tjapo

D. Aidha

Ajali zilisababishwana .

A. maporomoko na magari kugongana
B. maporomoko na mafuriko.

C. magarikugongana.

D. mawasiliano kukatizwa.

Kwa kuzingatia ufahamu, ni nani
aliyesababisha ajali hiyo kutukia? .

A. Dereva walori.

B. Mafuriko makubwa.

C. Dereva wa gari dogo.

- D. Madereva wote wawili. -

Msimulizi wakisa hiki analinganisha kifo cha
babaye na

A. kicheko nakilio

B. ndoto

C. karaha

D. ufuo

Ajali ya barabarani ilitokea

A. wakati wa asububhi.

B. katika barabara ya Nairobi kuelekea
Nakuru.

C. wakati ambapo lori lilijaribu kupita gari
lilokuwa mbele.

D. waliposaliti ulimwengu kwa kidole na
jiwe,

38

Gari dogo
A. lilikuwa likielekea Nairobi
B. lilikuwa la babaye msimulizi

_ C. lilingongwa na gari lililokuwa mbele

39.

40.

'D. lilikuwa likipitwa na gari ]mgme mbele

yake.

Kwa mujibu wa ufahamu huu, chakula
kilipikwa kwa nini?

A. Kulikuwa na wageni nyumbani.

B. Kulikuwa na sherehe nyumbani.

C. Kulikuwa na matanga nyumbani.

D. Baba alisubiriwa ili ale.

Tukio la ajah llhbalmka wakati gam wa siku?
A. Macheo

- B. Machweo

C. Usiku
D. Adhuhuri
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Soma kifungu kifuatacho kisha ujibu maswali 41-50 .. .

Nch1 zﬂlzoendelea zma 31fa za kuzxtawala nchi nyingine zenye uwezo wa chini k1uchum1 Hii ni

'H

hali ya bmadamu Nx Jukumu ka nchi zenye uwezo hafifu wa kiuchumi kujinasua kutoka lindi hili la

ukandannzajx

Nikubalie’ nisemé kuwa vidngozi katika mataifa hayo wamekosa kutekeleza waj ibu kama viongozi..

Wameshindwa kutumxa raslimali zao kuanzisha viwanda vya kuzalisha ili kuji 1pat1a uwezo wa kifedha.

Suala la ufisadi ndxlo huguguna mataxfa yayo na hatimaye wakabaki nyuma kama koti la babu. Uongozi =

huo mbaya ndio chanzo cha umaskxm kauka matana yao.

Iwapo taxfa litaweza kwa mfano kuanzxsha kiwanda cha kutengeneza sukan ba51 taifa litavuna . ~

-

kutoka kwa 1dad1 kubwa ya wananchl wake. Lakini ni yapi tlmayoshuhudla kutokana na viwanda kama -

hivyo hapa nchlm Kenya. Ufisadi, utumizi mbaya wa Ppesa na uongozi usio na dhamira umeangamiza -

viwanda hivyo. Sasa tunabaki kuagiza bidhaa kutoka mataifa yanje.

Maswala kama haya yametufanya kuwa watumwa katika taifa letu. Tazama kwa mfano kisacha . - »

hivi kanbum ambapo Wachma wapatao sabuu na watano wahpatlkana katika mtaa mmoja jijini Na1rob1

bila kibali. Hivi sasa, serikali ya  Uchina inawarai Wakenya na uongom wa taifa kuwachilia huru j Japo

walipatikana nchlm kmyume cha shena Aidha walikuwa wakxtekeleza uhalifu katika wavuti. Shmxklzo

kama hilo na mengine yanatokam na sababu kuwa _talfa la Uchina ndilo linalodhamini mradi wa ujenzi
wa reli kutoka Mombasa hac_li N_airobi. Je, hiini sababu tosha ya taifa la Kenya kuibtékéleza sheria
zake dhldl ya Wachma" Huenda huo ndlo ukoloni mamboleo |

Je wajuam matalfa mangapl yanayopitia matatlzo kama hayo? Na ni kwanini? Na wazalendo
wazinduke wayape mata1fa yao uwezo ili wapate uhuruwao La sivyo vizazi na vizazi vitaishi nchini ya

milki nyingine dhalimu. Kumbuka wajenga nchi ni wananchi.
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41. Katikaayayakwanza mwandishi anasema
hii ni hali ya binadamu’ Anaamanisha nini?

42.

43.

44,

45.

46.

A.

B.

C.

D.

Kuwacheka na kuwanyanyasa
wasiojiweza.

Kutojinasua katika lindi la
ukandamizaji.

Binadamu hupenda kuwatawala wengine
wenye uwezo wa chini

Nchi zenye uhafifu kutawala nyingine.

Ni nchi gani zilizonaswa Kkatika lindi 1a
kunyanyaswa?

A.
B.
C.
D.

Nchi zenye viongozi waswwa_ublka
Nchi zenye utajiri mkubwa kifedha.
Nchi zenye viwanda vingi.

Nchi zenye rasilmali chungu nzima.

Ni nani walioshindwa kutumia rasilmali
vizuri? - -

A.

B
C.
D.

viongozi wa mataifa yenye uwezo wa
kiuchumi.

. Viongozi wa mataifa yenye

kukandamizwa.
Mataifa yenye uwezo hafifu.

viongozi wa mataifa yenye kutekeleza

wajibu.

Ni matukio yapi makuu yanayozuilia
maendeleo kupatikana?
A. Umaskini na ufisadi.

B.
C.
D.

Uongozi mbaya na umaskini.
Ufisadi na utumizi wa rasilmali.
Ufisadi na uongozi mbaya.

Maneno “Wakabaki nyumba kama koti la
babu.” ni mfano wa

A.
B.
|9
D.

methalt

stiara

tanakali ya sauti
tashbihi

Ni jambo lipi linalipa taifa uwezo wa
kiuchurni?

A.
B.
C.

b.

Kuanzisha miradi katika taifa.
Kuanzisha viwanda vya stkari
Kuanzisha Viwarida vya kuzatisha il il

kupatia uwezo.
Kittimia shcha it kumxaa faifl;

4. Viwanda nchini Kenya huanguka kwa

48.

49.

50.

B.

C.

I,

-sababu?
A.

Ufisadi, umaskini na uongom usio na
dhamira.

Ufisadi, utumizi mbaya wa pesa,
uwangamizaji wa viwanda. :
Utumizi mbaya wa pesa, dhamira
mbaya, kuagiza bidhaa kutoka nje.
Ufisadi, utumizi mbaya wa pesa, .
uongozi usio na shabaha.

Ni akina nani wamekuwa watumwa?

A.

B.

C.

D.

Wananchi katika mataifa yenye uwezo
hafifu kiuchumi.

Viongozi wafisadi katika mataifa yenye
kukandamizwa.

Wanabiashara wanaoaglza bidhaa
kutoka mataifa ya nje.

Wachina ‘waliopatikana mtaani jijini
Nairobi bila kibali.

Kulingana na aya ya mwisho; ni nani

-mwenye uwezo wa kuipa nchi uwezo wa .

kiuchumi? -

A.
B.
C.
D.

D

Wanaopigania uhuru wao.
Wananchi wote kwa jumla.
Wananchi wazalendo.
Vizazi namilki nyingine.

Kichwa mwafaka cha habari hii ni
A. '
B.
C.
. Udhaifu wa nchi zenye uchumi hafifu.

Ukoloni mamboleo.
Nchi zenye uwezo wa kiuchumi.
Nchi zisizo uwezo wa kiuchumi.
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JESMA '
ol INTER-COUNTY EXAM

EDITION STANDARD SEVEN 2015

Time: 1hour 40minutes

SCIENCE READ THESE INSTRUCTIONS CAREFULLY

1 You have been given this question booklet and a separate answer sheet. The question booklet contains 50
questions.

2. Do any necessary rough work in this booklet.

When you have chosen your answer, mark it on the ANSWER SHE
HOW TO USE THE ANSWER SHEET

in the qyestion booklet.

4. Use an ordinary pencil.

Make sure that you have written on the answer sheeg

9. For each of th Oael” — 50, folr answers are given. The answers are lettered A, B, C ancf D. Ineach
case only NE %f ol

10. On the an
letter you have chose

cotfect answer is to be shown by drawing a dark line inside the box in which the
s written.

Example

In the question booklet:

23. Carbon dioxide is used for making fire extinguishers because it
A. is lowest in percentage in air -
B. does not support burning
C. does not burn easily
D. is cheaper than oxygen

The correct answer is B (does not support burning)
On the answer sheet: :
lAnBHCHDI mrAHBHCI'IDI :An-tCan Au B 1 CiiDi Au BreCriDn
In the second set, the box with the letter B printed in it is marked.
11. Your dark line MUST be within the box.
12. For each question ONLY ONE box is to be marked in each set of four boxes.
This question paper consists of 7 printed pages.

Candidates should check the question paper to ensure that all
the pages are printed as indicated and no questions are missing.
E-mail: jesmaprintingpress@gmail.com

Second Edition © Jesma Printing Press Ltd. Tel: 0775242042 Nairobi TURN OVER
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Which ¥ the following sets of organs is
found in the mammalian thorax?

A. Heart and liver

B. Oesophagus and elium

C. Lungs and stomach

D. Lungs and heart

The component of blood that is affected
by the plasmodium bacteria is known as
A. white carpuscles

B. red carpuscles

C. platelets

D. plasma

Which arrangement below shows the

correct order of flow of blood through

blood vessels attached to the heart?

A. Pulmonary artery—pulmonary vein—
vena cava —Aorta

B. Venacava—pulmonary vein —
pulmonary artery—>Aorta

C. Aorta—pulmonary vein—>pulmonary
artery—Vena cava

D. Pulmonary vein—aorta—vena cava
—pulmonary artery

The figure below shows the structure of
the heart. Which chamber will receive
poison from a snake second?

One rainy day as Amina was walking
home from school, she saw a rainbow -
infront. In which direction was Amina’s
home from school.

A. North - west

B. Westwards

C. Eastwards

D. South-JEast

10.

Which one of the following is NOT a

safety measure when using current

electricity?

- A. Avoid having cables running under

carpets.
. Avoid swimming during thunder storms.

B

C. Avoid overloading sockets.

D. Avoid repairing electrical appliances
while still plugged in.

Which of the following is the MAIN

purpose of mulching?

A. Conserve soil moisture

B. Control weeds in the farm

C. Control splash erosion

D. Maintain soil fertility by providing
humus.

Three of the following materials are
magnetic. Which oneis NOT?

A. Silver

B. Steel

C. Cobait

D. Chromium

A narcotic drug called cannabis sativa is
also known as.

A. Marijuana

B. Khat

C. Heroin

D. Cocaine

Std 7 pupils at Maendeleo primary school

were asked by their science teacher to

state what happens when breathing in and

they got the following responses.

i) Musau - ribs move inwards

it) Okumu - diaphragm become dome
shaped.

iii) Sadiq - chest volume decrease

iv) Cyprian - chest pressure decrease

Who among them gave the CORRECT

choice?

A. Sadiq

B. Okumu

C. Cyprian

D. Musau
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11. Below isa diagram showing a flower.

Which of the following will happen if part
marked X is chopped oft?

A. Selfpollination

B. Fertilization

C. Fruit formation

D. Cross pollination

12. Which ofthe following sets below can
help pupils of Milimani primary school to
conclude that moisture is necessary for
germination?

. wet cotton
il wWool
Tap
water
Q
dry cotton ice cubes
wool
M LD = |
D9 D=
R S
boiled water
A. PandT
B. Rand Q
C. Rand S
D. Sand Q

13. Carnivorous plants are plants that feed on
animals. Which of the following BEST
explains why they have to do this?

They grow in soil that lack proteins

They grow in soils that lack nitrogen

They grow in swamps

They grow in infertile soils

SO W

14. Which of'the following compositions of parts
of air makes approximately 21% of air?
A. Oxygen and nitrogen
B. Nitrogen and carbondioxide
C. Inert gases and oxygen
D. Carbondioxide and oxygen

15. Which one of the following qualifies to be
both a pasture and a fodder crop?
A. Lucern
B. Napier grass
C. Maize stalks
D. Sweet potato vines

16. Which statement below BEST explains

why a rainguage should be calibrated.

A. Inorder to avoid water splashing into
it.

B. In order to prevent evaporation during
hot weather.

C. Inorder to make accurate readings in
millimetres

D. Inorder to enhance visibility

17. Which of the following diagrams shows

the waxing cresent?
A B

18. Which of the following method of food
preservation removes MOST water from
food?

A. Use of honey
B. Salting

C. Sundrying
D. Smoking

STD 7 SECOND EDITION SCIENCE 2015
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19.

20.

21.

22,

Below is a diagram showing the circulation
of blood.

@,
1)

Which blood vessels carries dark red
blood?

A. Dand C

B. Cand B

C. DandA

D. Aand B

Which of the following is NOT definate for
liquids?

A. Size

B. Mass

C. Volume

D. Shape

Which of the following feeding methods
will help to control both internal and
external animal parasites?

A. Herding

B. Zero grazing

C. Stall feeding

D. Paddocking

Which one of the following is NOT a
function of the tooth shown below?

A. Cracking hard shells of nuts
B. Stripping of meat from a bone
C. Piercing flesh

D. Tearing meat

23.

24.

25,

26.

27,

28.

The part of the digestive system that
absorbs vitamins is the

stomach

ileum

collon

duodenum

Cow>

Which stage of HIV/AIDS is the most
dangerous to the society?

A. None

B. Window stage

C. Incubation

D. Full blown

At the age of 10 weeks a child is given
A. third DPT and second polio vaccine
B. first DPT and second polio vaccine
C. second DPT and third polio vaccine
D. fourth DPT and fourth polio vaccine.

Which of the following is the MAJOR role
of roots in all plants

A. Anchorage in soil

B. Supporting the plant to remain upright
C. Absorption of minerals

D. Absorption of air

The part that first grows through the
micropyle of a bean seed during
germination is the

plumule

radicle

embryo

Zygote

Cowp>

Study the food chain below and answer
question 28.

Maize — rats — snakes — hawks

What would EVENTUALLY happen ifall
rats doubled in number?

A. Hawks will rapidly increase

B. Snakes will decrease

C. Maize will decrease

D. Hawks will rapidly decrease
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29.

30.

31.

32.

17 |

Which of the following CANNOT be used
as an ear protection device?

A. Earplugs

B. Eardefenders

C. Earmuffs

D. Ear phones

Which of the following statements is

WRONG?

A. Reptiles and birds have internal
fertilization.

B. Reptiles and amphibians have varying
body temperature.

C. Amphibians and fish lay eggs.

D. Birds and amphibians have varying body
temperature.

The figure below shows an experiment
carried out by std 5 pupils of Hope
Academy.

[ &)

i
ink drog

glass
tube

Which of the following will NOT be
observed if t! ¢ tirn can was heated gently
for some time and tiicn stopped?

A. Ink drop moved towards the glass tube.
B. Water level on the water bath reduced.
C. Airin the glass tube expanded

D. Bubbles stopye.i co.ning out and water

entered the tube.

Whyisthew rd . ™1 BULANCE on
emergency hespit. chicles written in an
inverse mann- .7

A. So thatot'cr d - vers pave way for the
vehicle to pass.

So that ot'ier " vers canread it
through side n:irrors.

C. So that traffic policemen do not
disturb them.

Sothattl esic “cople can quickly
identify th -m.

B.

w

33.

34.

33.

36.

37.

38.

The addictive substance in Cocoais
called

A. Caffein

B. Nicotine

C. Opium

D. Shisha

Which type of erosion is most commonly
expericnced under trees and tents?

A. Splash crosion

B. Rillcrosion

C. Shect erosion

D. Gulley erosion

The ratio between white blood cells is
A. 600:1
B. 200:1
C. 1:900
D. 1:600

Which of the following pairs of statements
involve acquisation of heat from the
surrounding?

A. Frerzing and melting

B. Condensation and freezing

C. Mc ling and evaporation

D. [vrporation and condensation

Which [l the following classes of plants

include only non-flowering plants?

A. Mo td, lichen, moss, algae

B. Liv-rwatts, Algae, puff balls, smaut

C. Fer . moss, algae, liverwatts

D. Lic 'ns, mushroom, bracket tree,
nmueor

In orde- to make the readings on a liquid
thermometer to be easily visible, one
should

A. ma'-o the straw too short

B. mo o the straw wide

C. mo - the straw narrow

D. pl- -~ the instrument in the sun

~ 7 SECOND EDITION SCIENCE 2015
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39.

40.

41.

42,

43.

Which of the following belongs to root
tubers only?

A. Cassava, irish potatoes, yams

B. Carrots, arrowroots, beetroot, turnips
C. ginger, sweet potatoes, arrowroots

D. Cassava, carrots, yams, corns

A weed characterised by blue flower and
sacculent parallel veined leaves is called
oxalis

wandering jew

double thorn

amaranthus

COowp»

Which of the following is a transluscent
material?

A. Mirror

B. Window pane

C. Skylights

D. Drinking glass

In which of the following is friction
advantageous?

A. Skidding on a muddy road

B. Causing unnecessary noise

C. Wear and tear of clothes

D. Writing on the chalk board

The experiment below was set upto
investigate a certain component of soil.

OO T U O —tightlid

What element of soil was being tested?
A. Soil has water

B. Soil has air

C. Soil has humus

D. Soil hasliving organisms

44,

45.

46.

47.

48.

Which of the following food preservation
method is least useful in Nairobi city?

A. Freezing

B. Canning

C. Refrigeration

D. Sundrying

Which of the following sets of liquids are
NOT immiscible?

A. Kerosene and spirit

B. Spiritand milk

C. Petrol and milk

D. Milk and eooking oil

Which of the following pills of drugs
compose of curative drugs only?

A. Quinine and ampicilin

B. Penicilin and paracetamol

C. Opium and amphetamine

D. Penicilin and piriton

Std 5 pupils at Winners Academy observed
that during germination of a bean seed, the
seedling was bent as it came out of the soil
as shown below.

ground
level

The reason for the bending was that
A. the plumule always grows downwards.
B. the stem was too long.
C. to protect the cotyledons from damage
by the soil.
D. the stem was being protected by the hot
sun.
The largest component of the environment
found in all other components is
air and water
soil and water
" water and air
air and soil

Cow >
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49,

50.

Why are overhcad cables on electric posts
fixed in a sagging manner as shown below

S

A. To cater for expansion during hot
weather.

B. To cater for contraction during cold
weather.

C. To balance their weight on the posts.

D. To discourage construction of houses
under the cables.

Which of the following classes consists of
only flowering plants?

A. Onions, cactus, sugarcane

B. Cedar, fir, cypress

C. Pine, moss, cassava

D. Sisal, kale, cedar
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-

somAL STUDIES AND <t T ro 0
4 “RE{LIGIOUS EDU'GATION o B %5 S - iTime: 2 hours 15 minutes.

'READ THESE INSTRUCTIONS CAREFULLY
1. Youhave been given this question booklet and 2 separate answer sheet. The question booklet contains 90

-questions.

2. Do anjhneccésary rough work in this booklet.
3. - When you have chosen your answer, mark it on the ANSWERy hesfuestion booklet.
4. Use an ordinary pencil.

5. Make surc that you have written on the ansvygs

6. By drawing a dark Imc ms1 (Xe umbcred boxes mark your full Index Number (i.e. School Code
e Cangdids I\%mbcr) in the grid near the top of the answer sheet.

Do not make 'my/ﬂ'l ide the'poxes.

8. Keep your egnsﬁx shett lean as p0551b1e and do not fold it.
For each ofythe jons 3 “ 60 four answers are given. The answers are lettered A, B, C and D. In each
case only ON! out answers is correct. Choose the correct answer.

10. On thie answerpeetthe correct ‘answer is to be shown by drawing a dark line inside the box in which the
lettet you have cliosen is written.’

Example
In the question booklet:

33. The first African representative in the Legislative council was

* A. Alibhai Mulla
13, Eliud Mathu
~C. B.A.Ohanga
D. Ronald Ngala

The correct answer is D (Ronald Ngala)
On the answer sheet:
u IAILBILCI D! AnBiicuD  PE AnBIICHD! Ej AvBiiciwee  [E] ANB 1IC1ID1
In the sct of boxes numbered 33, the box with the letter D printed in it is marked.
1. Your dark line MUST be within the box.
12. For each question ONLY ONE box is to be marked in each set of four boxes.
This question paper consists of 12 printed pages
Candidates should check the question paper to ensure that all
the pages are printed as indicated and no questions are missing
E-mail: jesmaprintingpress@gmail.com

Second Edition © Jesma Printng Press Ltd. Tel: 0775 242 042 Nairobi TURN OV_ER
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" PART I: SOCIAL STUDIES

I W G0y ot

RUIRU AREA

SCALE: 1cm Rep 1km

Tarm ~ Road

C.D Cattle dip

Murram Road

? %ﬁ Forest

:0. Settlements

D.O District officer

v ¥, ¥

Coffee plant=tion

P.S Police station

&
Y
Xi—-

Scrub vegets.

C.C.0O County Council Office

—a

G.O Governor's office

B.H Bore hole
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Study the map of Ruiru area and use it to

answer questions 1-7 AR NP
o e s i - o g p e e o s —— .
© ews Ly g

1i Riyer Ruiruflowsifrom =  7.087
R S TR 7 TR
s A .NE 9] SO%hs Q i aue®

CBiNeS
‘ UCLJ;StOJqE%4ﬁj
~ D. NWtSE ™.

2. The main form of transport in Ruiru area is
A. "rail '
B. air
C. road
D. water
3. The climate of North Eastern part of Ruiru
area is likely to be
A. hotanddry
B. cooland wet
C. cooland warm
D. hot and wet
4. The MAIN economic activity of the western
part of Ruiru area is
A. mining
B. transport
C. trading
D. livestock keeping
5. The senior most head of Ruiru arca is
A. Chief
B. Governor
C. D.O
D. D.C
6. The type of soil in North Eastern part ofthe
map is likely to be
A. loamsoil
'B. sandy soil
C. volcanic soil
D. claysoil

7: The type of settlement in Ruiru area is
"o AL linear
B. nucleated
C. sparse
). dense
8. The vegetation that grows along the coastline
is known as
A sudd
I3. riverine
(. mangrove
[). water hyacinth
0. The smallest country in Africais
A. SaoTome and Principe
B. Sychelles
C. Algeria
[. Djibouti

' lO.V'l‘he following colonial powers colonised

Somalia. Which one did NOT?

A. French
B. DBritain
C. German
[D. Trance

11. The party that led Tanganyika to

independence is

A. TANU

B. - KANU

C. CCM,
S R

12. Which of the following crops were introduced
by Arabs in East Africa? '

Al MaiZ_L‘
3. Cloves

© (. Wheat
). Bananas

STD 7 SSTRE SECOND ED. 2015
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13. The rotation of the earth on itsown axis.
takes

A. 365 ) days
B. 366 days
C. 24hours

. D. oneyear

14. The time in Nairobi 45°E is 9:00 am. What
1s the time in Kigali 15°E?

A, 7:00am
B. 7:00pm
C. 11:00am
D. 11:00 pm

15. The last emperor of Ethiopia was known as
A.  Zaidutti -
B. Haille Sellassie
C. Menelik II
D. Wolde

16. The main variety of coffee grown in E lthpla

is known as
A. Arabica
B. Robusta
C. Ruirull
D. Lowland

1 7 The capital city of Rwanda is locatec] at
A. Addis Ababa

B. Kampala
C. Asmara
D. Kigali

18. Which one of the following mountains of
Africa is a fold mountain,

A. Meru

B. Pare

C. Atlas

D. Ruwenzori

19.The chiefj Justice in the Buganda kmgdom is
known as
A. Katikiro
B.  Omulamuzi
C. Omwanika
D. Lukiiko

20 The MAIN economic activity of the cushites

is
A. farming
B. trading

C. fishing
D. livestock keeping

21.The last population census in Kenya was
carried out in?

A. 2009
B. 1999
C. 2019
D. 2017

22.The instrument used to measure the speed of
the wind is called
A. Barometer
B.  Anemometer
C. Thermometer
D. Hygrometer

23.Whatisa school routine?
A.  Planned activities to be carried in school
B. A school motto
C. Shows the lesson to be attended
'D. State the time for breaks

24. The MAIN work of the police is to
A. maintain law and order
B.  protect the country from external attack
C. arrest criminals
D. protect the President
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25.0n 1stof June every year we celebrate a

national holiday called
A. Madaraka Day

~B. Jamhuri Day
C. Labour Day
D. Heroes’ Day

26. Which arm of the'government makes the laws

of Kenya?

A. Legislature
B. Executive
C. Judiciary

D. Kenyaarmy

27. The Ameru council of elders was known as

A. Wanyapala
B. Bataka

C. Njuri Ncheke
D. Ruoth

28.The judges of the high court are appointed

by

A. Chiefjustice

B. Speaker

C. Attorney General
D. President

29.1In Kenya elections are conducted by

A. LLE.B.C.
B. EEB.C.

C. government
D. president

3(). One can obtain Kenyan citizenship through
the following ways EXCEPT?
A. Birth
B. Registration
C. Dual citizenship
D. Recommendation

. 31. Which of the followiné minerals is mined at

Lake Magadi?
A. Flourspar
B. Sodaash
C. Diatomite
D. Salt

32. The MAIN type of democracy used in

Kenya is known as
A. indirect
B. direct

C. nominational
D. dictatorship

33. The MAIN crop grown under irrigation in
Kenana irrigation scheme is?

A, rice

- B. cotton
C. sugarcane
D. maize

Use the map below to answer questions
34-39 |
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' 34Nanie the physical fedture rﬁarked P

A. Mt Ruwenzori

B. Mt. Kenya st rafsed
C. Mt Elgon A e
D.

M. Kilimanjarg © *

35.The MAIN type of ﬁsh caught in the lake

marked K is
A. tilapia

- B. dagaa
C. nile perch

D. trout

36. The feature marked Z was formed through
A. folding
B. “volcanicity
C. fauitingand sinking
- D.  down warping

37. The linc marked O" has the sun overhead in

which month?
A. Dccember
B. June

C. Auvgust

D. Mu:rch

38. The lake marked X has one main problem.
Itis
A. over fishing
B. wacrhycinth
C. po.ution
D. tsc seflies

39. The town marked Y is called

A, Moyale
B. Garissa
C. Weiir

D. M: ndera

et g A ke < v

40. The lar ;est inland port in Eastern Africa is ,:

called

A. Kicumu

B. En.cbbe
C. Bukoba
D. U

O

& ’41 Which'of the followmg isthé MAIN' problem

"'facing wildlife in E. Afhca‘V

A. Insecurity “'\‘!_‘ g .
B. Poaching L
C. Poorfoads " -Vt
D. Terrorism ¢ e

427 he‘MOST‘piﬁvé:‘rﬂil arm ofthe government

1S

A. Kenya Army
B. Exccutive
C. Judiciary

D. Legislature

43. Which of the following is NOT along distance

‘trader?

A.  Akamba
B.  Nyamwezi
C. Buganda
D. Maasai

44. The leader of the Nandi community in res1st1ng
the British invasion was known as
A.  Meckatilili wa Menza
B. Lenana
C. Nabongo Mumias
D. Koilel arap Samoei

45. Which of the following communities in
- Eastern Africa migrated last?
A. Nyamwezi
B. Ngoni
C. Buganda
D. Zaramo

46. The MAIN reason for the coming of the
missionaries in Eastern Africa was
A.  spread Christianity
B.  colonise the country
C. introduce crops
D. explore the country
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I 47 thhpf the following is the reason why most 3. 'I'hg:;ype of soil. commoply found,m kng,h]ands

.....

lakes in the ﬂoqr of the Rift Valley are saltyb isknownas e o s
- A. Theyareshallow . i A. loam soil cpe T M
B. Theyarelong ... . .. - , B. sandsoil andi® ok
C. Theyhavenooulets . .. | C. volcanicsoil & ¢ 4
D. Theyareseasonal,. . . - ' D. alluvial soil
) )48 Below are characteristics of a climatein ! 54. The president elect is sworn in by
 Affica. A. chief justice
i) High temperature thi oughoul the year | . B. attorney general
ii) High rainfall thr oughoul the year ' C. solicitor general
iii)Double maxima D. cabinet secretary
iv) High humidity _ '
Z‘g;fg;hm‘“w o ARl 55. Which of the following is the MAIN fishing
A.  Equitorial ' method us'ed in Lake Victoria?
B. Mediterranean . A. Trawling
C. Tropical B. Purse seining
D Deget C. Netdrifting
: D. Longlining

49. The love of one’s country is known as

A. patriotism 56. Who among the following was the founder

B. loyalty member of German East African Company
C. democracy (GEAco)?
B ebedisnce A.  William Macknon
B. Carl Peters .
: C. Cecil Rhodes
50. Rice growing in Kenya is under irrigation. D. JohnRebman

Which is a rice growing scheme in Kenya.

A. Keng -
B, Peer?::.l:?a . 57. Which of the following plains is

'C. Ahero CORRECTLY matched with the country
0. Biita where it is found.
A. Serengeti - Tanzania
B. Bileshu-S. Africa
51. Who among the following is the secretary to C. Great Karoo - Kenya
the school staff meeting? e D. Awaro - Uganda
A. Head teacher
B. . Deputy head teacher.

. ; i > he > 1 : 1 ]
C. Senior teacher 58. The head of government in Ethiopia today is?

D. Headgirl A. President
A B. Prime minister
C. Senator

52. The head of a county in the devolved
government in Kenya is

D. Governor

A. senator

B. member of parliament

C. governor

D. women representative 7
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89,

The above diagram shows the formation of

A. reliefrainfall

B. land breeze

C. convectional rainfall
D. seabreeze

60. How many constituencies are there in Kenya

today?
A. 47
B. 290
C. 210
D. 12
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JESMA
SECOND
EDITIO

INTER-COUNTY EXAM
.STANDARD SEVEN 2015

ENGLISH
SECTION B:
COMPOSITION

Time: 40 min:utes

YOURINDEX
NUMBER

YOURNAME

NAME OF
YOURSCHOOL

'

- READ THESE INSTRUCTIONS CAREFULLY
1. In the spaces provided above, write your full index number, your name and name of your school. .

2. Now open this paper, read the composition subject carefully and write your composition on the lines
provided.

This question paper consists of 4 printed pages.
E-mail: jesmaprintingpress@gmail.com

Second Edition © Jesma Printing Press Ltd. Tel: 0775 242 042 Nairobi TURN OVER
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You have 40 m:inutes to write your composition.

P

: X

s
LS SR R

€.
(S
o ~o - '

IR AR XA A L X | o wowe 5 op
Bélow is the begining of 3&1“07‘}9? “Write and tomplete the story. Make your story as -»bﬁ‘éres&ﬁi'
as you can. -

I was woken up by voices of angry neighbours “beat him, team his a L R

\

.....................................................................................................................................................
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JESMA}] MTIHANI .WA KUTATHMINI KAUNT!]
ToLo LA DARASA LA SABA 2015

KISWAHILI
SEHEMU YA PILI:
INSHA

Muda: Dakika 4

NAMBA YAKO
YAMTIHANI

JINA LAKO

JINA LA
SHULE YAKO

SOMA MAAGIZO HAYA KWA MAKINI

1. Kwenye nafasi zilizoachwa hapo juu andika namba yako kamili ya mtihani, jina lako na jina la shule yak:

2. Sasa fungua karatasi hii, soma kichwa cha insha kwa makini na uandike insha yako kwenye nafasi
uliyoachiwa.

Kijitabu hiki kina kurasa 4 zilizopigwa chapa.

Barua pepe: jesmaprintingpress@gmail.com

T'oleo la Pili © Jesma Printingpress Ltd. Tel: 0775242042 Nairobi FUNGUA UKURAS.
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Umepewa dakika 40 kuandika insha yako.

Andika insha ukizingatia mada ulivopewa.

USIPOZIBA UFA UTAJENGA UKUTA.
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